
Trigonometry 

C-14. Prove that: 

D-1. 

D-5. 

D-6. 

(i) 

(ii) 

(iv) 

E-1. 

(V) 

E-2. 

(vi) 

E-3. 

(cosec 0 - sin 0) (sec 0 -cos 0) (tan0 + cot 0) =1 

2sine tan0 (1- tan0)+ 2 sin0 sec0 
(1+ tan0)? 

1- sinA 
V1+ sin A 
cOs AcosecA - sin A sec A 

-= + (sec A - tan A) 

seca - tana 

cOSA + sinA 

cos A +sin A 
cos A + sinA 

(ii) 

Section (D) : Conditional ldentities & Trigonometric Series 
For all values of a, B.Y prove that, 

Prove that : 

1 

() 

COSa 

COS 

cos cos 

cos A-sin A 
COS A- sinA 

cOS a + cos ß + cos y + cos (a +ß + Y) = 4 cos .cos+. cos 

D-2.a If x + y + z= show that, sin 2x + sin 2y + sin 2z = 4coSx COSy cosz. 
2 

COSa 

D-3. If x + y =T+Z, then prove that sin²x + sin'y� sin'z = 2 sin x sin y cos z. 

D-4.a If A + B+ C = 2S then prove that 

COs 

= COSecA- sec A 

2r 

11 11 11 
COS 

If is the exterior angle of a regular polygon of n sides and 0 is any constant, then prove that 
sin 0 + sin (0 + ¢) + sin (0 + 26) + ....u.p to n terms = 0 

D-7.a Prove that sin? 0 + sin² 20 + sin? 30 +.... + sin² n0 = 

D-8. 

3n 

cos (S -A) + cos(S -B) + cos (S-C) + cos S = 4 cos cos cos 

1 

If A + B +C= 0° then prove that sin 2A + sin 2B + sin 2C = - 4 sin A sin B sin C 

COs 

seCa + tana 

Find the extreme values of cos x cos 

1 

2 

4T 

Find the greatest and least value of y 

11 

2 sine 

(1+ tan0) 

a+ß 
2 

COSs 

()a y-3 coso ++5 cos +3 

Section (E): Range of Trigonometric Expressions 

y= 10 cos?x � 6 sin x cos x + 2 sin²x 

2 

A 

Y+a 
2 

5n 1 

11 32 

4 

Find the maximum and minimum values of following trigonometric functions 

() cos 2x + cos²x 

C 

sinno cos(n + 1)0 
2 sine 

(ü) cos²x + (sinx - cos x)² 
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